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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
1y 853 2) 513 3) 210 4) 284 X
X 26 28 x 62 x 70 '
2.
3.
4.
5) 635 6) 984 7) 829 8) 593 i
X 43 12 x 11 X 82 '
6.
7.
8.
9 906 10 818 11) 226 12) 706 .
X 26 12 x 38 x 40 '
10.
11.
12.
13) g29 1 782 1 651 16 137
13.
X 74 99 x 35 x 62
14,
15.
16.
17) 200 18) g22 19 428 20 404
17.
x 60 55 x 53 X 59
18.
19.
20.
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1 2) 3) 4)
) 853 513 210 284 . 22178
X 26 X 28 x 62 x 70
5,118 4.104 420 19,880 , 14364
+17,060 +10,260 +12,600
22,178 14.364 13.020 s _ 13,020
. 19880
5 6 7 8)
) 635 ) 984 ) 829 593 . 27305
X 43 X 12 x 11 X 82
1,905 1,968 829 1,186 s 11808
+ 25,400 + 9,840 +8,290 + 47,440
27.305 11.808 9119 48.626 7. 9119
8 48,626
9 10 11 12
) 906 ) 818 ) 226 ) 706 . 23556
X 26 X 12 x 38 x 40
5,436 1,636 1,808 28,240 o 9816
+18,120 +8.180 +6,780
23 556 9.816 8.588 1. 8,588
1 28,240
13 14 15 16
) 829 ) 782 ) 651 ) 137 s 61346
X 74 X 99 x 35 X 62
3.316 7.038 3.255 274 77,418
+ 58,030 + 70,380 +19,530 +8.220
61 346 77 418 22 785 8.494 15 22,185
6 8494
17 18 19 20
) 200 ) 822 ) 428 ) 404 o 12,000
x 60 X 55 x 53 X 59
12.000 4.110 1,284 3.636 18 457210
+ 41,100 +21,400 +20,200
45210 22 684 23.836 0. 22,684
o0 23,836
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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